


2. =7} 10048 cmQl €O 52| Aol= E cmYY7}?

» = cm

> & 32cm

100.48 + 3.14 = 32( cm)




9771 50.24cme] o] Gl o] G 59| Lol T2,

> HE . 16cm

50.24 + 3.14 = 16( cm)




AF71 43.96 cm? D O] A 5-& FoHA L.

[> HED 14em

43.96 + 3.14 = 14( cm)




5. =7} 125.6cm?] Y] A E9] Zol= % emJY7F?

» = cm

> HE . 40cm

125.6 + 3.14 = 40( cm)




Y571 75.36 cmQ RHA 52 2 em Y72

Hh2]50] Zo] @ 75.36 + 3.14 + 2 = 12(cm)




9] 9571 50.24 cm T, o] Y0 WA 52| DolE oA L.

AE) = (95F) +3.14+ 2
=50.24+3.14+ 2 = 8(cm)




AF7H94.2cmel FHAE-E 2 e YUY 71?

> & 15cm

942 +3.14 +2 = 15(cm)




Y371 113.04cmQl Po] YUt o
QU7

» E cm

[> HED 18cm

113.04 + 3.14 + 2 = 18(cm)




10. 9F7140.82cm?l o] U o] ¥ A5 E emAY7P?

» = cm

> & 13cm

40.82 = 3.14 = 13(cm)




11. 45715024 cm?] ¥o] WHA 52 2 cm QY77

» = cm

> &g 8cm

(AZ) = 50.24 + 3.14 = 16( cm)




12. o5 2ol @, O= AR F5HA 2.

A 21594do]
32.97 cm @)
(@) 18 cm

>
>
> ®E 10.5cm
>

HE D 56.52cm

@ = 32.97 = 3.14 = 10.5( cm)
© = 18 x 3.14 = 56.52( cm)




© A5l 10cmel ¢ @‘?_}1]%—0] 10em?! ¢
® 97 314em ¥ @ A20] 12e¢mol ¢
® HiZE©°] 6ecmS ¥

~&B

HHA (A8) o] 27171 & 45 2 9k
@ A5 : 10cm
@ A5 1 10x2 = 20(cm)

® A& : 31.4+3.14 = 10(cm)
@ A& 12cm
® A5 : 6x2=12(cm)

i

nl
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2,

f
2
flo
Ut
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A
by

= AHY o] 29l A7} 32.97 em A5 U .
EAo 218 H cm@U7P?

g e 227 Ad =
32.97 + 5 = 6.594(cm) | 2.2
S0 A 5L 6.594 + 3.14 = 2.1(cm) YUt




15. A9 ¢ dol7b 188.4cm 91 ¥ WHx 5] dol=Z cmPU7F?

® 10ecm @ 15ecem @ 20cm @ 25cm (@)30(:111

(9] E4)) = 2x(Y2] ¥ 2) x3.14
188.4 = 2x (9] ¥tA]E5)x3.14
e P0] ¥ 22 188.4 + 3.14 + 2 = 30( cm) YU TH.




16.

22 2]29] 4o]7} 22t 12 cm, 16 cm@] F Yo HIA] 2, A5 Ho]
A588 Astato] Uebd AT 2R AL Ae] 7|55 240
ZAZ29] |Hx]E 2
SR g gol  |axe
Zol | Rl
12em | @6em | 37.68cm | ©113 04em? | 3.14
16em | 8em | ©25.12cm| 200.96em? | ©3.14
>
> HE. O
(A E) Do) = (A5 Dol)=2, (%) = (A5 2
o])x3.14
(99 Hol) = (§tA59] 4o]) x (¥tA59] 4o]) x3.14
@211 o] Z0]7} 16( cm) |22
YFE= 16 x 3.14 = 50.24(cm) FY




A%7} 53.38cme) Y| WAZY Lol F emPU7H

@ 8cm @ 7.5cm @8.5(:111
@ 17cm ® 3.14cm

B

(95F) = (AE) x3.140]122

53.38 = (X&) x3.14 JYrt.

(A2) =53.38 +3.14 = 17(cm) 0|22
g2 8-9] 4ol 8.5cmY YTt




18. 9] E89] Zo]7}188.4cm ¢ POl vz 2o] Ao E emPU7R?

188.4 +3.14 = 2 = 30( cm)




19. ¥F7F1256cm 1 9O HAFL2 E cmPU7H?

» = cm

> &g 2em

(2] E)=12.56 + 3.14 + 2 = 2cm




_‘%_
A9 A gL FokAL

2 flellA 3urF] F Y 22,137 emE A AFHTh

() =(AA 2= A=)+ (F2 2)
=22.137 + 3 = 7.379(cm)

(9F) = (AE) x3.14

7.379 = (A§) x3.14

(AE) = 7.379 + 3.14 = 2.35( cm)
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471 +3.14 = 15(cm)
15+2 ="7.5(cm)
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23. Tl o £50

o]

188.4 + 3.14 = 60(

m)




